LYNX MANUAL DOC.REV A 07-12-2015

180 CFX - FRONT BOOM MOUNT_BELT

LX1687 - 180 CFX - Lynx Pro Edition Belt Conversion - Combo

180 CFX- TAIL CASE_BELT

180 CFX - COUNTER SHAFT_BELT

\

- J
180 CFX - TAIL SHAFT_BELT

- ™

\ J

180 CFX - TAIL SERVO MOUINT
& 180 CFX - TAIL BOOM SUPPORT

~

- N p

N J J
180 CFX - TAIL PUSH ROD_BELT 180 CFX - TAIL BOOM

4 N B

. U J
180 CFX - BELT

- p

N J

HELI INNOVATIONS




LYNX MANUAL DOC.REV A 07-12-2015

LX1687 - 180 CFX - Lynx Pro Edition Belt Conversion - Combo

4 R 1660 N MR682 N DR1667 N
Radial bearing 2.5x6x1.8 180 CFX- Pin boom
180 CFX - Upper boom clamp | Belt
clam e
@a— Loctite 648 P=
|
. ’ %
|
?}—Locme 648 OR1852
MR682 DR1663 180 CFX - Right boom
\_ Radial bearing 2.5x6x1.8 J U 180 CFX - Lower boom clamp AN clamp_ Belt Y,
STEP 1 DR1819
DR1818 180 CFX - Left boom clamp_ Belt
180 CFX - Main boom clamp_Belt THIS STEP ASSEMBLY IN FACTORY
- ) WITH LOCTITE. IT'S READY TO USE
5x TCEM1.6X4
Hex cup screw M1.6x4

TCEM2X8
Hex cup screw M2x8
Note: Put Loctite 242 and full
tighten after install the Boom

2 x TCEM1.6X5
Hex cup screw M1.6x5

Loctite 242 after install the servo

STEP 2

Note: Add more shim
if you see any play | :

DR1722
Shim 2.5x4x0.1

DR1731
Spacer 2.5x4x2.5

Loctite 242

DR1664
180 CFX - STD Tail servo support

- |
.
= L —>xTCEMI1.6X4

Hex cup screw M1.6x4
Loctite 242

DR1769

180 CFX - Sub tail servo case stiffener

2 x TCEM1.6X4 DR1730 -
Hex cup screw M1.6x4 180 CFX - Pulley 12T ~=—Hl
Loctite 242

DR1670
Belt 414 -S1.5M -2

Note: This part comes pre assembled.
it is ready to use

\

2 x DR1729
180 CFX - Flange pulley

DR1728
180 CFX - Counter
Shaft_Belt

DR1628
+|180 CFX - Gear 21T - 0.4M

il

HELI INNOVATIONS




LX1687 - 180 CFX - Lynx Pro Edition Belt Conversion - Combo
STEP 3

DR1732
180 CFX -Tail boom_ belt

DR1733
180 CFX- Tail push rod support_ belt

DR1723
PANS1.6X5 180 CFX - Tail boom support _ Belt
M1.6x5 Pan head

screw self tapping silve

TCEM1.6X6
Hex cup screw M1 .6x6—’/

.f"

h TCEM1.6X5

Hex cup screw M1.6x5
(Loctite 242)

Super glue \

180 CFX - Tail shaft_ Belt

a \DR] 739 N

DR1729
180 CFX - Flange pulley

MF682X-11
Flange bearings 2.5x6x2.6

DR1736

DR1730 180 CFX - Vertical fin_ Belt

180 CFX - Pulley 12T

Note: This part comes
pre assembled. It is
ready to use /

Note: This part comes pre assembled.

K it is ready to use / \
f \ /2 X MR52-W2.5

DR1735 Radial bearing 2x5x2.
180 CFX - Tail case_belt

Loctite 242
DR1722
Shim 2.5x4x0.1 DR1407
2x MR682 . Shim washer 2x3x0.45
Rod|gl bearing 2.5x6x1.8 . TBEM2X10
. (Loctite 648) Note: This part comes ) 1 ex cup screw M2x10
Note: This part comes pre assembled. pre assembled. It is
\__ itisready to use ) \Jeady fo use J
STEP 4

Rotate belt
as shown

Spacer 2.5x4x0.9
DR1722
Shim 2.5x4x0.1

Note: First fime install only DR1741 spacer
2.5x4x0.9 without shim 2.5x4x0.1 then

&

Note: Be careful to check the belt is
not twisted inside the boom. Use a light
to check inside the boom

3 X TCEM1.6x4 check play betwen Vertical fin and tail
Hex cup screw M1.6x4 case. IF you see any play you can add one
(Loctite 242)

more shim BUT be aware to over pack
small play better then not play

HELI INNOVATIONS




LX1687 - 180 CFX - Lynx Pro Edition Belt Conversion - Combo
TCEM2X8
STEP 5 Hex cup screw M2x8

Loctite 242

’ I / NOTE: Use STD
DR1456

Frame @ washer M1.6
TCEM1.6x4 A
Hex cup screw M1.6X4

Loctite 242

Note: To adjust the belt tension
by puling the boom. The belt
should not be over tight.

A good load pullis around 1 kg (
2.2 ps).

Recheck belf tension after fist fly.

STEP 6
In order to give tail servo position, tail push rod supply is not

assembled. flolow step in function for your need
6.1 STD tail servo position

DR1734

2 x DR0474

DR1265 130x1.2-1.55-Pla

Linkage ball 3x1.5mm % DRI

3mm Pl
Super glue
Super glue

\;,

2 x DR0475

6.2 Tail boom servo position TCEMT.6x4

Hex cup screw M1.6x4

. 100mm ( tail boom servo position) Loctite 242

Cut DR1734 - 180 CFX - Tail push rod support
carbon as the dimension shown then
assemble like step 6.1

134 mm

mount_

—— )

f~—

SCM3X3
Set screw M3x3

Loctite 2424?

180 CFX - Tail push rod support carbon

130X - M1.4x10 Thread rod

2 xDR1721
180 CFX - Tail servo

TCEM1.6X10
Hex cup screw M1.6x10

Loctite 242

w
or upgrod

DR1740
180 CFX_Tail hub

2 x PAN1.4X3
M1.4x3 Pan head screw
(Loctite 242)

Note: In order o check the belt installation, we

recommend to follow two simple steps:

1- Check with light, look inside the boom

from the tail case if not twisted

2- Rotate the counter shaft in the flight direction
(as shown) and check the tail shaft rotates

in the direction shown. If the Tail shaft rotates

in the wrong direction, go back to the previous

instructions and double check your work.

Ref 165 ( STD servo position)

o

stic tube

209
astic linkage

DR1769
180 CFX - Sub tail servo
case stiffener
TCEMT1.6x5
Hex cup screw M1.6x5
Loctite 242

Belt
TCEM1.6x5

Hex cup screw M1.6x5
Loctite 242

HELI INNOVATIONS




	LX1687 - 180 CFX - Tail belt conversion _ ( For customer)_1.PDF.pdf
	PAGE 1
	Drawing View13
	Drawing View14
	Drawing View15
	Drawing View16
	Drawing View17
	Drawing View18
	Drawing View19
	Drawing View20
	Drawing View21
	Drawing View22
	Drawing View23
	Drawing View42
	Drawing View43
	Drawing View44
	Drawing View45
	Drawing View47
	Drawing View48
	Drawing View49

	PAGE 2
	Drawing View33
	Drawing View34
	Drawing View35
	Drawing View36
	Drawing View37
	Drawing View38
	Drawing View39
	Drawing View40
	Drawing View41
	Drawing View50
	Drawing View51
	Drawing View52


	LX1687 - 180 CFX - Tail belt conversion _ ( For customer)_2
	Sheet1
	Drawing View1
	Drawing View3
	Drawing View4
	Drawing View5
	Drawing View6
	Drawing View8
	Drawing View11
	Drawing View15
	Drawing View16
	Drawing View17
	Drawing View18
	Drawing View19
	Drawing View20

	Sheet2
	Drawing View21
	Drawing View23
	Drawing View24
	Drawing View25
	Drawing View28
	Drawing View30
	Drawing View31
	Drawing View32
	Drawing View33
	Drawing View34





